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3.1 (Introduction)

trigonometry trigon” metron”

3.2 (Angles)

(initial side) terminal

side vertex

3.1

v A mathematician knows how to solve a

problem, he cannot  solve it.–MILNE v

3.1
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3. 4 (i) (iv)

3.2

3.2 

spinning wheel

15

3.2.1 Degree measure
360

1

1
o

60

60

1 1

1o = 60/, 1/ = 60//

3.3 3600, 1800, 2700, 4200, - 300, - 4200

3.2.2. Radian measure

1  1 
1  3.4 i) iv OA OB

1 -1
1

0
0 -

1

0
0
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3.5

2p 2p

r 1

r 1

l
l

r

q q =
l

r
l r= q

3.2.3 Relation between radian and real numbers

O A OA 

PAQ 

A A AP 

AQ 3.5 AP 

AQ 

3.2.4 Relation between degree and

radian 2p

360
o

2p  = 360
o p  = 180

o

p
7

22

1 = 
180

57 16
o

o

p
= /

1
180

o =
p

= 0.01746 
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l = 37.4 
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=
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p p
´ = ´r r

13

22

2

1 =
r

r
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(i)  250 (ii) 03470 ¢- (iii) 2400 (iv) 5200
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16
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3

5p
(iv) 

6
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3. 360

4. 100 22

7

22
=p

5. 40 20

6. 600 750

7. 75 (i)  10  

(ii) 15   (iii)  21 

3.3. (Trigonometric Functions)

P (a, b) AOP = x

AP = x 3.6)

cos x = a  sin x = b

rOMP

OM2 + MP2 = OP2 a2 + b2 =1

a2 + b2 = 1 cos2x + sin2x = 1

p2

Ð ÐAOB = AOC =
p

p,

ÐAOD =
3p

2

p

(quadrantal angles) A, B, C D

(1,0), (0,1), ( - 1,0) 0, -1

cos 0
o
= 1 sin 0

o
= 0

cos 
p

2
= 0 1

2
sin =

p

1cos -=p 0sin =p

0
2

3
cos =

p
1

2

3
sin -=

p

cos 2p = 1 sin2p = 0

3.6
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P P

p2 p sine cosine

sin + sin  n   cos 2n + =  cos  n2n x x x xp pb g b g= Î Î, ,Z Z

sinx=0, x = ± ± ±0,  ,  2  ,  3  ,  ...p p p x, p cos x=0,

x = ± ± ±
p p p

2 2
 ,  

3
 ,  

5

2
,....... cos x x,  

2

p

sin x = 0 x n= 2p ,

cos x = 0 x n= +2 1
2

b gp ,  n

sine cosine

cosec    ,  nx
x

x n= ¹
1

sin
, p

sec 
os 

   ,  nx
c x

x n= ¹ +
1

2 1
2

, b gp

tan 
cos 

 ,  nx
x

= sin x
 , x ¹ b2n + 1

2
gp

cot 
sin 

   ,  nx
x

x
x n= ¹

cos
, p

x sin cos2 2 1x x+ =

1 2 2+ =tan secx x

1 2 2+ =cot x xcosec

00, 300 ,450, 600 900

00

6
p

4

p
3

p
2

p
p

2

3p
p2

sin 0
2

1

2

1

2

3
1 0 -1        0

cos 1
2

3
2

1

2

1
0 -1 0        1

tan 0
3

1
1 3 0  0

cosecx, secx cot x sin x , cos x tan x
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3.7

3.3. Sign of trigonometric functions

P (a, b) Ð =AOP x Ð = -AOQ x, Q

a, –b 3.7 xx cos)cos( =-

xx sin)sin( -=-

P (a, b) 11 ££- a

,11 ££- b x

,1cos1 ££- x 1 sin 1x- £ £

0
2

< <
F
HG

I
KJx

p
a b 

p
p

2
< <
F
HG

I
KJx a b

p
p

 < x <
F
HG

I
KJ

3

2
 a b

3

2
2

p
p< <

F
HG

I
KJx b

0 < <x p  sin x 0 2< <x p 0
2

< <x
p

cos x

p p

2

3

2
< <x

3

2
2

p
p< <x

I II III     IV

sin x + + -   -

cos x + - -   +

tan x + - +   -

cosec x + + -   -

sec x + - -   +

cot x + - +   -

3.3. 2. Domain and range of  trigonometric functions).

sine cosine 

x

- £ £1 1sin x - £ £1 1cos x

y x= sin y x= cos

[-1,1] --- - 1 £ y £ 1.
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 cosec  y = cosec x
x

x=
1

sin
, { x x: ÎR x n n ,¹ Îp Z }

{ :y y Î ³R ,  y l y £ -1} y=secx 

{x x : Î R x n¹ + Î2 1b g p
2

 ,  n  }Z { :y y Î £ -R,  y 1 y ³ 1}

y= tan x { :x x ÎR x n n¹ + Î2 1
2

b g p , }Z

y= cotx { :x x ÎR x n¹ Îp ,  n Z }

x 0
p

2
sinx

0 1 x
p

2
p sinx 1 0

x p
3

2

p
sinx 0 -1

x
3

2

p
2p sinx -1 0

0
2

< <x
p

tan x 0 ¥

0
2

< <x
p

x tan x x, 
p

2

tan x cosecx -1 -¥

x Î
F
HG

I
KJ

3

2
2

p
p, cosec x x, 2p

cosec x ¥ - ¥

sin 0 1 1 0 0 –1 –1 0

cos 1 0 0 –1 –1  0 0 1

tan 0 ¥ – ¥ 0 0 ¥ – ¥

cot ¥ 0 0 – ¥ ¥ 0 0 – ¥

sec 1 ¥ – ¥ –1 –1 –¥ ¥ 1

cosec ¥ 1 1 ¥ – ¥ –1 –1 – ¥
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3.8

3.9

3.12

3.10 3.11

3.13
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2p sin x cos x

cosec x sec x

2p 
p

p

6
5

3
cos -=x x

5

3
cos -=x sec x = -

5

3

sin cos2 2 1x x+ =

sin2x x= -1 2cos

sin2 1
9

25

16

25
x = - =

sin x = ±
4

5
x sinx

5

4
sin -=x

4

5
cos -=xec

3

4

cos

sin
tan ==

x

x
x

4

3

sin

cos
cot ==

x

x
x

7
12

5
cot -=x x

12

5
cot -=x tan x = -

12

5

25

169

25

144
12tan12sec =+=+= xx

5

13
sec ±=x

x sec x

sec x = -
13

5

cos x = -
5

13

cot x , tan x tan x 
tan (   + x p tan x  =
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sin tanx x x= = -
F
HG
I
KJ ´ -
F
HG
I
KJ = cos 

12

5

5

13

12

13

cosec x
x

= =
1 13

12sin

8 sin 
31

3

p

2p xsin

sin sin sin
31

3
10

3 3

3

2

p
p

p p
= +
F
HG

I
KJ = =

9 cos -1710oc h
p2 0360 xcos

cos cos- = - + ´

= - + = =

1710 1710 5 360

1800

o o o

o o ocos 1710 cos 90  0

c h c h
c h

3.2

1 5

1. cos ,x x= -
1

2

2. sin ,x x=
3

5

3. cot ,x x=
3

4

4. sec ,x x=
13

5

5. tan ,x x= -
5

12

6 10

6. sin  765o 7. cosec o-1410c h
8.

3

19
tan

p
9. )

3

11
(sin

p
-

10. )
4

15
(cot

p
-
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3.4 Trigonometric Functions of Sum and

Difference of Two Angles)

(trigonometric

identities)

sin sin

cos cos

- = -

- =

x x

x x

b g
b g

3.    cos cos cos sin sinx y x y x y+ = -b g
P OP4 1 x 

P OP1 2 y P OP4 2 xw+ P OP4 3
- yb g

P , P , P , P1 2 3 4  P  sin  P1 cos , ,x xb g
P ,  P  sin2 3[cos , sin ] [cos ,x y x y y yb g b g b g b g+ + - - and P4 ,b g1 0 . .314

P OP1 3 P OP2 4 P  P1 3 P  P2 4

3.14

1.

2.

3.
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P  P [cos cos ] [sin sin ]

cos cos sin sin

 cos cos 2cos  cos sin sin 2sin  sin

1 3

2 2 2

2 2

2 2 2 2

= - - + - -

= - + +

= + - + + +

x y x y

x y x y

x y x y x y x y

b g b g
b g b g

 2 cos co sin sin= - -2 x sy x yb g
P  P

 1 + cos

 2

2 4

2

2 2 2

2

1 0

2

2

= - + + - +

= - + + + +

= - +

[ cos ] [ sin ]

cos sin

cos

x y x y

x y x y x y

x y

b g b g
b g b g b g
b g

P  P1 3 = P  P2 4 P  P P P1 3 2 4

2 2
=

2 2 2 2- - = - +cos sin sin cosx y x y x y cosb g b g
cos cos sin sinx y x y x y+ -b g=  cos

4. cos cos cos sin sinx y x y x y- +b g =
3 y - y

cos( ( )) cos ) sin sin( )x y x y x y+ - - -=  cos(-

cos cos cos sinx y x y x y- = +b g   sin

5 cos sin
p

2
-
F
HG
I
KJ =x x

4 x
2

p
y x

cos cos cos sin sin sin
p p p

2 2 2
-
F
HG
I
KJ = + =x x x x

6. sin cos
p

2
-
F
HG
I
KJ =x x

5 

sin cos cos
p p p

2 2 2
-
F
HG
I
KJ = - -

F
HG
I
KJ

L
NM

O
QP =x x x

7. sin sin  cos + cos  sinx y x y x y+ =b g

sin cos

( )

x y x y

x y

+ = - +
F
HG

I
KJ

- -
F
HG

I
KJ

F I F I

b g b gp

p

2

2
=  cos
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sinx y x y

x y x y

-
F
HG
I
KJ + -

F
HG
I
KJ

p p

2
=  cos

2
 cos  sin 

=  sin  cos + cos  sin 

8. sin sin  cos cos  sinx y x y x y- = -b g
 7 y - y

 9.  3 , 4,7 8 x y

xx sin)
2

cos( -=+
p sin ) cos (

2

p
+ =x x

cos p - = -x xb g cos sin p - =x xb g sin

cos  p + = -x xb g cos sin  p + = -x xb g sin

cos   2p - =x xb g cos sin   2p - = -x xb g sin

sin x cos x tan x, cot x, sec x  cosec x

10. x, y (x + y)
1

p

tan x y
tanx tany

1 tanx tan y
+ =

+

-
b g

x, y (x + y)
1

p
cos x ,

cos y, cos (x + y)

tan
sin

cos

sin cos cos sin

cos cos sin sin
x y

x y

x y

x y x y

x y x y
+ =

+

+
=

+

-
b g b g

b g
cos x cos y

tan( )

sin cos

cos cos

cos sin

cos cos
cos cos

cos cos

sin sin

cos cos

x y

x y

x y

x y

x y
x y

x y

x y

x y

+ =

+

-

yx

yx

tantan1

tantan

-

+
=

11. tan
tan tan

1 tan tan
x y

x y

x y
- =

-

+
b g

10 y - y
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tan tan

tan

tan

tan tan

tan tan

x y x y

x y

x y

x y

x y

- = + -

=
+ -

- -
=

-

+

b g b g
b g
b g

tan 

 tan  1 1

12. x y, x y+b g p

cot
cot  cot 1

cot cot 
x y

x y

y x
+ =

-

+
b g

x,y x y+b g p sin x, sin y sin (x + y)

cot
cos

sin

cos cos sin sin

sin cos cos sin
x y

x y

x y

x y x y

x y x y
+ =

+

+
=

-

+
b g b g

b g
sin x  sin y

cot
cot cot

cot cot
x y

x y

y x
+ =

-

+
b g 1

13. cot
cot cot 1

cot cot
x y

x y

y x
- =

+

-
b g

12 y - y

14. cos 2 cos sin 2cos 1 1 2sin
1 tan

1 tan
2 2 2 2

2

2
x x x x x

x

x
= - = - = - =

-

+

cos cos cos sin sinx y x y x y+ = -b g
y x

cos cos sin

cos cos

2

1 2 1

2 2

2 2

x x x

x x x

= -

= - - = -          cos2 c h
cos cos sin

sin sin sin

2

1 1 2

2 2

2 2 2

x x x

x x x

= -

= - - = -

cos cos sin
cos sin

cos sin
 2 2 2

2 2

2 2
x x x

x x

x x
= - =

-

+

cos2 x

cos
tan

tan
 2

1

1

2

2
x

x

x
=

-

+
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15. sin 2x 2sinx cos x
2tanx

1 tan x2
= =

+

sin (x + y) = sin x cos y + cos x sin y

y x sin 2x = 2 sin x cos x

sin
sin cos

cos sin
 2x

x x

x x
=

+

2
2 2

cos2 x

sin
tan

tan
 2x

x

x
=

+

2

1 2

16. tan 2
2tan

1 tan2
x

x

x
=

-

tan x y
x y

x y
+ =

+

-
b g tan tan

tan tan1

y x

tan
tan

tan
2

2

1 2
x

x

x
=

-

17. sin 3x = 3 sinx - 4 sin3 x

sin 3x = sin (2x + x)

= sin 2x cos x + cos 2x sinx

= 2 sinx cos x cos x + (1- 2sin2 x) sin x

= 2 sin x (1 - sin 2 x) + sin x - 2 sin 3 x

= 2 sin x - 2 sin 3 x + sin x - 2 sin 3 x

= 3 sin x - 4 sin 3x

18. cos 3x = 4 cos 3x - 3 cos x

      cos 3x = cos (2x + x)

= cos 2x cosx - sin 2x sin x

= (2cos2x - 1) cos x - 2sin x cos x sin x

= (2cos2x - 1) cos x - 2cos x (1 - cos 2x)

= 2 cos3x - cos x - 2cos x  + 2 cos 3x

= 4cos3x - 3cos x
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19. tan3
3tan tan

1 3tan

3

2
x

x x

x
=

-

-

tan 3x = tan (2x + x)

=
+

-
= -

+

-
-

=
+ -

- -
=

-

-

tan tan

tan tan

tan

tan
tan

tan . tan

tan

tan tan tan

tan tan

tan tan

tan

2

1 2

2

1

1
2

1

2

1 2

3

1 3

2

2

3

2 2

3

2

x x

x x

x

x
x

x x

x

x x x

x x

x x

x

20. ( )  

( ) 

( ) 

( ) 

i x y
x y x y

ii x y
x y x y

iii x y
x y x y

iv x y
x y x y

cos cos 2cos
2

cos
2

cos cos 2sin
2

sin
2

sin sin 2sin
2

cos
2

sin sin 2cos
2

sin
2

+ =
+ -

- = -
+ -

+ =
+ -

- =
+ -

cos( ) cos cos sin sinx y x y x y+ = -                                   ...(1)

cos( ) cos cos sin sinx y x y x y- = +                               ...(2)

(1)   (2) 

cos( ) cos( ) cos cosx y x y x y+ + - = 2          ...(3)

cos( ) cos( ) sin sinx y x y x y+ - - = -2                                ...(4)

sin( ) sin cos cos sinx y x y x y+ = +                                     ...(5)

sin( ) sin cos cos sinx y x y x y- = -                                   ...(6)

(5)  (6)

sin( ) sin( ) sin cosx y x y x y+ + - = 2                                      ...(7)

sin( ) sin( ) cos sinx y x y x y+ - - = 2                                    ...(8)

q=+ xw x y- = f

x =
+F
HG
I
KJ

q f

2
y =

-F
HG
I
KJ

q f

2

(3), (4), (7)   (8) x y
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cos cos cos cosq f
q f q f

+ =
+F
HG
I
KJ

-F
HG
I
KJ2

2 2

cos cos sin sin

sin sin sin cos

sin sin cos sin

q f
q f q f

q f
q f q f

q f
q f q f

- = -
+F
HG
I
KJ

-F
HG
I
KJ

+ =
+F
HG
I
KJ

-F
HG
I
KJ

- =
+F
HG
I
KJ

-F
HG
I
KJ

2
2 2

2
2 2

2
2 2

q f q x f y

cos cos cos cosx y
x y x y

+ =
+ -

2
2 2

cos cos sin sinx y
x y x y

- = -
+ -

2
2 2

sin sin sin cosx y
x y x y

+ =
+ -

2
2 2

sin sin cos sinx y
x y x y

- =
+ -

2
2 2

21. (i) 2cos cos y cos( ) cos( )

(ii) 2sin sin cos( ) cos( )

(iii) 2sin cos sin( ) sin( )

(iv) 2cos sin sin( ) sin( )

x x y x y

x y x y x y

x y x y x y

x y x y x y

= + + -

- = + - -

= + + -

= + - -

10

1
4

cot
6

5
sin4

3
sec

6
sin3 =-

ppp p

4
cot

6

5
sin4

3
sec

6
sin3

ppp p
-=

= ´ ´ - -
F
HG
I
KJ ´ = -3

1

2
2 4

6
1 3 4

6
sin sinp

p p

= - ´ = =3 4
1

2
1

11 sin 15
o

 sin 15
o
= sin (45

o _ 30
o
)

= sin 45
o
 cos 30

o _
 cos 45

o
 sin 30

o
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= ´ - ´ =
-1

2

3

2

1

2

1

2

3 1

2 2

12  tan
12

13p

)
64

(tan
12

tan)
12

(tan
12

13
tan π

π pppp
-==+=

=
-

+

=

-

+

=
-

+
= -

tan tan

tan tan

p p

p p
4 6

1
4 6

1
1

3

1
1

3

3 1

3 1
2 3

13

sin( )

sin( )

tan tan

tan tan

x y

x y

x y

x y

+

-
=

+

-

)(sin

)(sin

yx

yx

-

+
=

yxyx

yxyx

sincoscossin

sincoscossin

-

+
=

cos x cos y

sin( )

sin( )

tan tan

tan tan

x y

x y

x y

x y

+

-
=

+

-

14

tan 3x tan 2x tan x = tan 3x _ tan 2x _ tan x

3x = 2x + x

tan 3x = tan (2x + x)

tan 3 x
xx

xx

tan2tan1

tan2tan

-

+
=

tan 3x _ tan 3x tan 2x tan x = tan 2x + tan x

tan 3x _ tan 2x _ tan x = tan 3x tan 2x tan x

tan 3x tan 2x tan x = tan 3x _ tan 2x _ tan x

15

xxx cos2)
4

(cos)
4

(cos =-++
pp
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20 (i) 

 = )
4

(cos)
4

(cos xx -++
pp

=
+ + -
F

H
GGG

I

K
JJJ

+ - -
F
HG
I
KJ

F

H

GGG

I

K

JJJ
2 4 4

2

4 4

2
cos cos

p p p p
x x x x

= = ´ = =2
4

2
1

2
2cos cos cos cos

p
x x x

16 x
xx

xx
cot

5sin7sin

5cos7cos
=

-

+

 20 (i) 20 (iv)

= 

2

57
sin

2

57
cos2

2
57

cos
2

57
cos2

xxxx

xxxx

-+

-+

=== x
x

x
cot

sin

cos

17 x
xx

xxx
tan

cos5cos

sin3sin25sin
=

-

+-

= 
xx

xxx

cos5cos

sin3sin25sin

-

+-

= xx

xxx

cos5cos

3sin2sin5sin

-

-+

= xx

xxx

2sin3sin2

3sin22cos3sin2

-

-

= xx

xx

2sin3sin

)12(cos3sin

-

-

=
-

= = =
1 2

2

2

2

2cos

sin

sin

sin cos
tan

x

x

x

x x
x
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3.3

1
6 3 4

1

2
2 2

6

7

6 3

3

2

3
6

5

6
3

6
6 4 2

3

4
2

4
2

3
10

2 2 2 2 2 2

2 2 2 2 2

. sin cos tan . sin cos cos

. cot cos tan . sin cos sec
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